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Answer ALL the questions on the question paper.
(20 Marks)

For items 1 to 20, each stem is followed by four options lettered A to D, Read each item
carefully and circle the letter which corresponds to the correct or best option.
Each correct option carries two marks.

L. The vector (10, 130°) express as a column vector is

A (00)
B (od)
¢ ()

D. (Z259)

2

- A tree casts a shadow 25 meters long when the angle of elevation of the sun is 56°. How tall is the
tree?
A, 37 1Im
B. 37.0m
C. 20.7m
D. 14.0m

(8]

. What is the back bearing of 210%
A. 030°
B. 060°
C. 120°
D. 15¢°

he

In triangle ABC, /A = 59°, £C = 75% and IBC| = 7.3m. Calculate the length of the least side of
triangle ABC,

A. 929m
B. 829m
C. 7.36m
D. 6.18m
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5 Simplif seccx—1
Simplify P
P eczy
AL sin‘x
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. cos™x

6. It x = 3sind, simplify the expression V9 — X2,

7. Simplify cos(30° — 8).

P

A.cos B

8. A ladder, 25 m is placed against a vertical wall, if the foot of the is O m away from the wail,
calculate, correct to the nearest dagmss the angle the foot of the ladder makes with the ground,
AL 700
B. 69
C. 68°

D.67°

o
w
E?

wplify sin + cotfcosh.
A cosech
B, secd

N

10. Given that Tan B = 2.4 and angle B lies

o
Ws

e third quadrant, find the value of
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D, -2
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11 E‘riangie PQR is such that [PQ| = 8 m, ZPQR = 36° and LQPR = 47°. Calculate, correct
o two significant figures, the length of RQ.

3‘7 m

58m

59m

6.0m

s

90w

12, 1f the bearing of point A from point B is 0677, find the bearing of B from point A.
A.023°

B.157%
C. 203°
D. 247°

13. In triangle PQR, £P = 1207, , {PQ = 36 m and |QR] = 45 m. Calculate, correct to the nearest
degree, ZR.

A. 44°

B. 57°

C. 7&"

D.97°

14. The direction S40°W is the same as
A, 320°
B. 2307
C. 22@0
D. 140°

A hunter at point A sights a fire directly south. A second hunter who is 7.5 km
from and directly east of the first hunter, sights the same fire on a bearing of 207°.
Use this information to answer questions 15 and 16.

Calculate, correct to the nearest whole number:

15. the distance between the first hunter and the fire.
A. 14 km
B.15km
C. 17 km
D, 20 km

16. Find the distance between the second hunter and the fire.
A 17 km
B.21km
C. 23 km
.28 km

-y G

7. A boat starts from a pﬂint A, travels 7 ki in the direction of 060"
9

<1

t0 B and then 9 km

north to C. Find the boat’s distance from A
AL 16 km
B.13.9km
C.174%km
2,12, 5 km




Given that {8) = 5cos 8 — 12sin 6 = R cos(6 + o).
Use this information to answer questions 18 and 19.

18. Find the minimum value of f8)
AT
B.13
C.15
D. 17

19, Calculate, correct to the nearest degree, the angle a.
A 23"
B. 47
c.67°
D. 78°

20. A man walks 1km on a bearing of 040°. He then walks 2km on a bearing of 162°. Finally, he
returns to his starting point. Find the distance of the last part of his walk.
A, 1.6km
B. 1.7km
C. 1.Bkm
D. 2.0km
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